



Volume 6, Number 2, 2020, 167–177

# REFINED HERMITE-HADAMARD INEQUALITY AND WEIGHTED LOGARITHMIC MEAN

#### KENJIRO YANAGI

ABSTRACT. Inspired by the recent works by R.Pal et al., and Furuichi-Minculete, we give further refined inequalities for a convex Riemann integrable function, applying the refined Hermite Hadamard inequality. Our approach is different from their one in [10]. As corollaries, we give the refined two types of inequalities on the weighted logarithmic mean. At last we give corresponding operator inequalities.

### 1. Introduction

The inequalities on means attract many mathematicians for its developments. See [6] for example. Recently, in ([10], Theorem 2.2), the weighted logarithmic mean was introduced properly and the inequalities among weighted means were shown as

$$a\sharp_v b \le L_v(a,b) \le a \bigtriangledown_v b,$$

where the weighted geometric mean  $a\sharp_v b=a^{1-v}b^v$ , the weighted arithmetic mean  $a \nabla_v b=(1-v)a+vb$  and the weighted logarithmic mean [10]:

(1.2) 
$$L_v(a,b) = \frac{1}{\log a - \log b} \left( \frac{1-v}{v} (a - a^{1-v}b^v) + \frac{v}{1-v} (a^{1-v}b^v - b) \right)$$

for a,b>0 and  $v\in(0,1)$ . We easily find that  $L_{1/2}(a,b)=\frac{a-b}{\log a-\log b}$ ,  $(a\neq b)$ , with  $L_{1/s}(a,a)=a$ . This is the so-called logarithmic mean. We also find that  $\lim_{v\to 0}L_v(a,b)=a$  and  $\lim_{v\to 1}L_v(a,b)=b$ . Thus the inequalities given in (1.1) recover the well-known relations:

$$\sqrt{ab} \le \frac{a-b}{\log a - \log b} \le \frac{a+b}{2}, \ (a, b > 0).$$

R.Pal et al. obtained the inequalities given in (1.1) by their general result given in ([10], Thorem 2.1) which can be regarded as the generalization of the famous Hermite-Hadamard inequality with weight  $v \in [0, 1]$ :

$$(1.3) f(a \nabla_v b) \le C_{f,v}(a,b) \le f(a) \nabla_v f(b),$$

where

$$(1.4) C_{f,v}(a,b)$$

<sup>2010</sup> Mathematics Subject Classification. Primary 26D15, secondary 26B25, 26E60.

Key words and phrases. Weighted logarithmic mean, weighted identric mean, convex function, Hermite Hadamard inequality and operator inequality.

$$= \left( \int_0^1 f(a \bigtriangledown_{vt} b) dt \right) \bigtriangledown_v \left( \int_0^1 f((1-v)(b-a)t + a \bigtriangledown_v b) dt \right)$$

for a convex Riemann integrable function, a, b > 0 and  $v \in [0, 1]$ . By elementary calculations, we find that the inequalities given in (1.3) recover the standard Hermite-Hadamard inequalities:

$$(1.5) f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_a^b f(t)dt \le \frac{f(a)+f(b)}{2}.$$

Recently Furuichi and Minculete [7] obtained refined Hermite-Hadamard inequality and gave the extended inequalities for weighted logarithmic mean. In this paper we extend the results of [7] by using the more refined Hermite-Hadamard inequality.

# 2. Refined Hermite Hadamard inequality

We give the refined Hermite Hadamard inequality.

**Theorem 2.1.** Let f(x) be a convex function on [a,b]. Then for any  $n \in \mathbb{N} \cup \{0\}$ 

(2.1) 
$$\frac{1}{2^n} \sum_{k=1}^{2^n} f(a + (2k-1)\frac{h_n}{2}) \le \frac{1}{b-a} \int_a^b f(x) dx$$
$$\le \frac{1}{2^{n+1}} \{ f(a) + f(b) + 2 \sum_{k=1}^{2^{n-1}} f(a + kh_n) \},$$

where  $h_n = \frac{b-a}{2^n}$ . By putting n = 0 in (2.1), (1.5) is obtained.

The proof is omitted.

**Proposition 2.2.** The following properties hold.

$$(1) \quad \frac{1}{2^{n-1}} \sum_{k=1}^{2^{n-1}} f\left(a + (2k-1)\frac{h_{n-1}}{2}\right) \le \frac{1}{2^n} \sum_{k=1}^{2^n} f\left(a + (2k-1)\frac{h_n}{2}\right)$$

$$(2) \quad \frac{1}{2^{n+1}} \left\{ f(a) + f(b) + 2 \sum_{k=1}^{2^{n-1}} f(a+kh_n) \right\}$$

$$\le \frac{1}{2^n} \left\{ f(a) + f(b) + 2 \sum_{k=1}^{2^{n-1}-1} f(a+kh_{n-1}) \right\}$$

Proof. (1)

$$RHS = \frac{1}{2^{n}} \left\{ f\left(a + \frac{h_{n}}{2}\right) + f\left(a + \frac{3}{2}h_{n}\right) + f\left(a + \frac{5}{2}h_{n}\right) + \dots + f\left(a + \frac{2^{n+1} - 1}{2}h_{n}\right) \right\}$$

$$\geq \frac{1}{2^{n-1}} \left\{ f(a + h_{n}) + f(a + 3h_{n}) + \dots + f(a + (2^{n} - 1)h_{n}) \right\}$$

$$= \frac{1}{2^{n-1}} \left\{ f\left(a + \frac{h_{n-1}}{2}\right) + f\left(a + \frac{3}{2}h_{n-1}\right) + \frac{3}{2^{n-1}} \left(a + \frac{3}{2^{n-1}}h_{n-1}\right) + \frac{3}{2^{n-1}} \left(a + \frac{3}{2^{n-1}}h_{$$

$$+\cdots + f\left(a + \frac{2^{n} - 1}{2}h_{n-1}\right)$$
 = LHS.

(2) Since

$$f(a) + f(a + 2h_n) \ge 2f(a + h_n),$$
  

$$f(a + 2h_n) + f(a + 4h_n) \ge 2f(a + 3h_n),$$
  

$$f(a + (2^n - 2)h_n) + f(b) \ge 2f(a + (2^n - 1)h_n),$$

we obtain

$$LHS = \frac{1}{2^{n+1}} \{ f(a) + 2f(a+h_n) + 2f(a+2h_n) + 2f(a+3h_n) + \dots + 2f(a+(2^n-1)h_n) + f(b) \}$$

$$\leq \frac{1}{2^{n+1}} \{ f(a) + f(a) + f(a+2h_n) + 2f(a+2h_n) + f(a+2h_n) + f(a+4h_n) + \dots + f(a+(2^n-2)h_n) + f(b) + f(b) \}$$

$$= \frac{1}{2^n} \{ f(a) + f(b) + 2f(a+2h_n) + 2f(a+4h_n) + \dots + 2f(a+(2^n-2)h_n) \}$$

$$= \frac{1}{2^n} \{ f(a) + f(b) + 2f(a+h_{n-1}) + 2f(a+2h_{n-1}) + \dots + 2f(a+(2^{n-1}-1)h_{n-1}) \}$$

$$= RHS.$$

## 3. Main results 1

We give the refined inequalities for (1.3) by repeating use of the refined Hermite Hadamard inequalities given in (2.1).

**Theorem 3.1.** For every convex Riemann integrable function  $f:[a,b] \to \mathbb{R}$  and  $v \in [0,1]$ , we have

$$(3.1) f(a \nabla_{v} b) \leq R_{f,v}^{(1)}(a,b) = R_{f,v,0}^{(1)}(a,b)$$

$$\leq R_{f,v,1}^{(1)}(a,b) \leq R_{f,v,2}^{(1)}(a,b) \leq \cdots \leq R_{f,v,n}^{(1)}(a,b)$$

$$\leq C_{f,v}(a,b)$$

$$\leq R_{f,v,n}^{(2)}(a,b) \leq R_{f,v,n-1}^{(2)}(a,b) \leq \cdots \leq R_{f,v,1}^{(2)}(a,b)$$

$$\leq R_{f,v,0}^{(2)}(a,b) = R_{f,v}^{(2)}(a,b) \leq f(a) \nabla_{v} f(b),$$

$$where h_{n} = \frac{v(b-a)}{2^{n}}, \ \ell_{n} = \frac{(1-v)(b-a)}{2^{n}},$$

$$(3.2) \quad R_{f,v,n}^{(1)}(a,b)$$

$$= \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left\{ (1-v)f\left(a+(2k-1)\frac{h_{n}}{2}\right) + vf\left((1-v)a+vb+(2k-1)\frac{\ell_{n}}{2}\right) \right\}$$

$$= \frac{1}{2^n} \sum_{k=1}^{2^n} f(a \bigtriangledown_{\frac{(2k-1)v}{2^{n+1}}} b) \bigtriangledown_v f(a \bigtriangledown_{v+\frac{(2k-1)(1-v)}{2^{n+1}}} b)$$

and

$$(3.3) R_{f,v,n}^{(2)}(a,b)$$

$$= \frac{1}{2^{n+1}} \left\{ (1-v)f(a) + vf(b) + f((1-v)a + vb) \right\}$$

$$+ \frac{1}{2^n} \sum_{k=1}^{2^n-1} \left\{ (1-v)f(a+kh_n) + vf((1-v)a + vb + k\ell_n) \right\}$$

$$= \frac{1}{2^{n+1}} \left\{ f(a) \bigtriangledown_v f(b) + f(a \bigtriangledown_v b) \right\}$$

$$+ \frac{1}{2^n} \sum_{k=1}^{2^n-1} \left\{ f(a \bigtriangledown_{\frac{kv}{2^n}} b) \bigtriangledown_v f(a \bigtriangledown_{v+\frac{k(1-v)}{2^n}} b) \right\}$$

$$= \frac{1}{2^n} \left\{ (f(a) \bigtriangledown_v f(b)) \bigtriangledown_{1/2} (f(a \bigtriangledown_v b)) \right\}$$

$$+ \sum_{k=1}^{2^n-1} f(a \bigtriangledown_{\frac{kv}{2^n}} b) \bigtriangledown_v f(a \bigtriangledown_{v+\frac{k(1-v)}{2^n}} b) \right\}.$$

In the case of n = 0 in (3.1), we have the results of ([7], Theorem 2.1).

*Proof.* Applying the refined Hermite Hadamard inequalities (2.1) on two intervals [a, (1-v)a+vb] and [(1-v)a+vb, b], we obtain respectively

(3.4) 
$$\frac{1}{2^n} \sum_{k=1}^{2^n} f\left(a + (2k-1)\frac{h_n}{2}\right) \le \frac{1}{v(b-a)} \int_a^{(1-v)a+vb} f(x)dx$$
$$\le \frac{1}{2^{n+1}} \left\{ f(a) + f((1-v)a+b) + 2\sum_{k=1}^{2^n-1} f(a+kh_n) \right\}$$

and

$$(3.5) \qquad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} f\left((1-v)a + vb + (2k-1)\frac{\ell_{n}}{2}\right)$$

$$\leq \frac{1}{(1-v)(b-a)} \int_{(1-v)a+vb}^{b} f(x)dx$$

$$\leq \frac{1}{2^{n+1}} \left\{ f((1-v)a + vb) + f(b) + 2 \sum_{k=1}^{2^{n}-1} f((1-v)a + vb + k\ell_{n}) \right\}.$$

Multiplying (1 - v) and v to the both sides in (3.4) and (3.5) respectively and summing each side, we obtain

$$(3.6) \quad \frac{1}{2^n} \sum_{k=1}^{2^n} \left\{ (1-v)f\left(a + (2k-1)\frac{h_n}{2}\right) + vf\left((1-v)a + vb + (2k-1)\frac{\ell_n}{2}\right) \right\}$$

$$\leq \frac{1-v}{v(b-a)} \int_{a}^{(1-v)a+vb} f(x)dx + \frac{v}{(1-v)(b-a)} \int_{(1-v)a+vb}^{b} f(x)dx 
\leq \frac{1}{2^{n+1}} \left\{ f(a) \bigtriangledown_{v} f(b) + f(a \bigtriangledown_{v} b) \bigtriangledown_{v} f(a \bigtriangledown_{v} b) \right\} 
+ \frac{1}{2^{n}} \sum_{k=1}^{2^{n}-1} \left\{ (1-v)f(a+kh_{n}) + vf((1-v)a+vb+k\ell_{n}) \right\},$$

which is equivalent to

(3.7) 
$$R_{f,v,n}^{(1)}(a,b) \le C_{f,v}(a,b) \le R_{f,v,n}^{(2)}(a,b),$$

by replacing the variables such as x = v(b - a)s + a in the first term and x = (1 - v)(b - a)u + (1 - v)a + vb in the second term of the integral parts in (3.6). Finally we estimate  $R_{f,v,n}^{(1)}(a,b)$  and  $R_{f,v,n}^{(2)}(a,b)$ . By the same method in Proposition 2.2, it is easy to sow

$$R_{f,v,n-1}^{(1)}(a,b) \le R_{f,v,n}^{(1)}(a,b),$$

and

$$R_{f,v,n}^{(2)}(a,b) \le R_{f,v,n-1}^{(2)}(a,b).$$

Corollary 3.2. For a, b > 0 and  $v \in (0, 1)$ , we have

$$(3.8) \qquad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} (a \sharp_{\frac{(2k-1)v}{2^{n+1}}} b) \bigtriangledown_{v} (a \sharp_{v + \frac{(2k-1)(1-v)}{2^{n+1}}} b)$$

$$\leq L_{v}(a,b)$$

$$\leq \frac{1}{2^{n}} \left[ (a \bigtriangledown_{v} b) \bigtriangledown_{1/2} (a \sharp_{v} b) + \sum_{k=1}^{2^{n}-1} (a \sharp_{\frac{kv}{2^{n}}} b) \bigtriangledown_{v} (a \sharp_{v + \frac{k(1-v)}{2^{n}}} b) \right]$$

In the case of n = 0 in (3.8), we have the results of ([7], Corollary 2.2).

*Proof.* Applying the convex function  $f(t) = e^t$  in Theorem 3.1, we have for a, b > 0

$$(3.9) \qquad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left\{ (1-v)e^{(1-\frac{(2k-1)v}{2^{n+1}})a}e^{\frac{(2k-1)v}{2^{n+1}}b} \right\}$$

$$+ \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left\{ ve^{(1-v-\frac{(2k-1)(1-v)}{2^{n+1}})a}e^{(v+\frac{(2k-1)(1-v)}{2^{n+1}})b} \right\}$$

$$\leq \frac{1-v}{v(b-a)} \left\{ e^{(1-v)a+vb} - e^{a} \right\} + \frac{v}{(1-v)(b-a)} \left\{ e^{b} - e^{(1-v)a+vb} \right\}$$

$$\leq \frac{1}{2^{n+1}} \left\{ (1-v)e^{a} + ve^{b} + e^{(1-v)a}e^{vb} \right\}$$

$$+ \frac{1}{2^{n}} \sum_{k=1}^{2^{n}-1} \left\{ (1-v)e^{(1-\frac{kv}{2^{n}})a}e^{\frac{kv}{2^{n}}b} + ve^{(1-v-\frac{k(1-v)}{2^{n}})a}e^{(v+\frac{k(1-v)}{2^{n}})b} \right\}.$$

Replacing  $e^a$  and  $e^b$  with a and b respectively, we obtain the inequalities (3.8) for  $b \ge a > 0$  and  $v \in (0,1)$ .

We give the inequalities on the weighted identric mean which was defined in [10] as

$$(3.10) I_v(a,b) = \frac{1}{e} (a \nabla_v b)^{\frac{(1-2v)(a\nabla_v b)}{v(1-v)(b-a)}} \left( \frac{b^{\frac{vb}{1-v}}}{a^{\frac{(1-v)a}{v}}} \right)^{\frac{1}{b-a}}, \ v \in (0,1).$$

It is easy to check that  $I_{1/2}(a,b)$  recovers the usual identric mean  $I(a,b) = \frac{1}{e} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}$ , with  $\lim_{v\to 0} I_v(a,b) = a$  and  $\lim_{v\to 1} I_v(a,b) = b$ .

Corollary 3.3. For a, b > 0 and  $v \in (0, 1)$ , we have

$$(3.11) \qquad \left\{ (a\sharp_{v}b)\sharp_{1/2}(a\bigtriangledown_{v}b) \prod_{k=1}^{2^{n}} (a\bigtriangledown_{\frac{kv}{2^{n}}}b)\sharp_{v}(a\bigtriangledown_{\frac{v+k(1-v)}{2^{n}}}b) \right\}^{\frac{1}{2^{n}}} \\ \leq I_{v}(a,b) \\ \leq \prod_{k=1}^{2^{n}} \left\{ (a\bigtriangledown_{\frac{(2k-1)v}{2^{n+1}}}b)\sharp_{v}(a\bigtriangledown_{v+\frac{(2k-1)(1-v)}{2^{n+1}}}b) \right\}^{\frac{1}{2^{n}}}.$$

In the case of n=0 in (3.11), we have the results of ([7], Corollary 2.3).

*Proof.* We apply the convex function  $f(t) = -\log t$  in Theorem 3.1. Since

$$-(1-v)\log\left\{\left(1-\frac{(2k-1)v}{2^{n+1}}\right)a+\frac{(2k-1)v}{2^{n+1}}b\right\}$$

$$-v\log\left\{\left(1-v-\frac{(2k-1)(1-v)}{2^{n+1}}\right)a+\left(v+\frac{(2k-1)(1-v)}{2^{n+1}}\right)b\right\}$$

$$=-\log\left\{\left(1-\frac{(2k-1)v}{2^{n+1}}\right)a+\frac{(2k-1)v}{2^{n+1}}b\right\}^{1-v}$$

$$\left\{\left(1-v-\frac{(2k-1)(1-v)}{2^{n+1}}\right)a+\left(v+\frac{(2k-1)(1-v)}{2^{n+1}}\right)b\right\}^{v},$$

we have

$$(3.12) \qquad -\frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \log \left\{ \left( 1 - \frac{(2k-1)v}{2^{n+1}} \right) a + \frac{(2k-1)v}{2^{n+1}} b \right\}^{1-v}$$

$$\left\{ \left( 1 - v - \frac{(2k-1)(1-v)}{2^{n+1}} \right) a + \left( v + \frac{(2k-1)(1-v)}{2^{n+1}} \right) b \right\}^{v}$$

$$= -\frac{1}{2^{n}} \log \prod_{k=1}^{2^{n}} \left\{ \left( 1 - \frac{(2k-1)v}{2^{n+1}} \right) a + \frac{(2k-1)v}{2^{n+1}} b \right\}^{1-v}$$

$$\left\{ \left( 1 - v - \frac{(2k-1)(1-v)}{2^{n+1}} \right) a + \left( v + \frac{(2k-1)(1-v)}{2^{n+1}} \right) b \right\}^{v}$$

$$= -\log \prod_{k=1}^{2^n} \left\{ (a \bigtriangledown_{\frac{(2k-1)v}{2^{n+1}}} b) \sharp_v (a \bigtriangledown_{v+\frac{(2k-1)(1-v)}{2^{n+1}}} b) \right\}^{\frac{1}{2^n}}.$$

Since

$$-(1-v)\log a - v\log b - \log((1-v)a + vb)$$

$$-2\sum_{k=1}^{2^{n}-1} \left\{ (1-v)\log\left(\left(1 - \frac{kv}{2^{n}}\right)a + \frac{kv}{2^{n}}b\right) + v\log\left(\left(1 - v - \frac{k(1-v)}{2^{n}}\right)a + \left(v + \frac{k(1-v)}{2^{n}}\right)b\right) \right\}$$

$$= -\log a^{1-v}b^{v}((1-v)a + vb)$$

$$-2\sum_{k=1}^{2^{n}-1}\log\left\{ \left(1 - \frac{kv}{2^{n}}\right)a + \frac{kv}{2^{n}}b\right\}^{1-v}$$

$$\left\{ \left(1 - v - \frac{k(1-v)}{2^{n}}\right)a + \left(v + \frac{k(1-v)}{2^{n}}\right)b\right\}^{v},$$

we have

$$(3.13) \qquad -\frac{1}{2^{n+1}} \log a^{1-v} b^{v} ((1-v)a + vb)$$

$$-\frac{1}{2^{n}} \sum_{k=1}^{2^{n}-1} \log \left\{ \left( 1 - \frac{kv}{2^{n}} \right) a + \frac{kv}{2^{n}} b \right\}^{1-v}$$

$$\left\{ \left( 1 - v - \frac{k(1-v)}{2^{n}} \right) a + \left( v + \frac{k(1-v)}{2^{n}} \right) b \right\}^{v},$$

$$= -\frac{1}{2^{n}} \log a^{\frac{1-v}{2}} b^{\frac{v}{2}} ((1-v)a + vb)^{1/2}$$

$$-\frac{1}{2^{n}} \log \prod_{k=1}^{2^{n}-1} \left\{ \left( 1 - \frac{kv}{2^{n}} \right) a + \frac{kv}{2^{n}} b \right\}^{1-v}$$

$$\left\{ \left( 1 - v - \frac{k(1-v)}{2^{n}} \right) a + \left( v + \frac{k(1-v)}{2^{n}} \right) b \right\}^{v}$$

$$= -\log \left\{ (a\sharp_{v}b)\sharp_{1/2} (a \bigtriangledown_{v}b) \prod_{k=1}^{2^{n}} (a \bigtriangledown_{\frac{kv}{2^{n}}} b) \sharp_{v} (a \bigtriangledown_{v+\frac{k(1-v)}{2^{n}}} b) \right\}^{\frac{1}{2^{n}}}.$$

We calculate the following

$$(3.14) -\frac{1-v}{v(b-a)} \{ (a \bigtriangledown_v b) \log(a \bigtriangledown_v b) - a \bigtriangledown_v b - a \log a + a \}$$

$$-\frac{v}{(1-v)(b-a)} \{ b \log b - b - (a \bigtriangledown_v b) \log(a \bigtriangledown_v b) + a \bigtriangledown_v b \}$$

$$= -\log\{(1-v)a + vb\} \frac{(1-2v)((1-v)a+vb)}{v(1-v)(b-a)} b \frac{vb}{(1-v)(b-a)} a^{-\frac{(1-v)a}{v(b-a)}} - 1$$

$$= -\log \frac{1}{e} \{ (1-v)a + vb \}^{\frac{(1-2v)((1-v)a+vb)}{v(1-v)(b-a)}} \left( \frac{b^{\frac{vb}{1-v}}}{a^{\frac{(1-v)a}{v}}} \right)^{\frac{1}{b-a}}.$$

Thus we complete the proof for any a,b>0 by the similar way to the proof of Corollary 3.2.

## 4. Main results 2

We give the refined inequalities for (1.3) by repeating use of the refined Hermite Hadamard inequalities given in (2.1). The obtained inequalities are different from the inequalities in Theorem 3.1.

**Theorem 4.1.** For every convex Riemann integrable function  $f:[a,b] \to \mathbb{R}$  and  $v \in [0,1]$ , we have

$$(4.1) f(\frac{a+b}{2}) \le r_{f,v}^{(1)}(a,b) = r_{f,v,0}^{(1)}(a,b)$$

$$\le r_{f,v,1}^{(1)}(a,b) \le r_{f,v,2}^{(1)}(a,b) \le \cdots \le r_{f,v,n}^{(1)}(a,b)$$

$$\le \frac{1}{b-a} \int_a^b f(x) dx$$

$$\le r_{f,v,n}^{(2)}(a,b) \le r_{f,v,n-1}^{(2)}(a,b) \le \cdots \le r_{f,v,1}^{(2)}(a,b)$$

$$\le r_{f,v,0}^{(2)}(a,b) = r_{f,v}^{(2)}(a,b) \le \frac{f(a)+f(b)}{2},$$

where  $h_n = \frac{v(b-a)}{2^n}$ ,  $\ell_n = \frac{(1-v)(b-a)}{2^n}$ ,

$$(4.2) r_{f,v,n}^{(1)}(a,b)$$

$$= \frac{1}{2^n} \sum_{k=1}^{2^n} \left\{ vf\left(a + (2k-1)\frac{h_n}{2}\right) + (1-v)f\left((1-v)a + vb + (2k-1)\frac{\ell_n}{2}\right) \right\}$$

$$= \frac{1}{2^n} \sum_{k=1}^{2^n} f(a \bigtriangledown_{v + \frac{(2k-1)(1-v)}{2^{n+1}}} b) \bigtriangledown_v f(a \bigtriangledown_{\frac{(2k-1)v}{2^{n+1}}} b)$$

and

$$(4.3) r_{f,v,n}^{(2)}(a,b)$$

$$= \frac{1}{2^{n+1}} \{ vf(a) + (1-v)f(b) + f((1-v)a + vb) \}$$

$$+ \frac{1}{2^n} \sum_{k=1}^{2^n - 1} \{ vf((a+kh_n) + (1-v)f((1-v)a + vb + k\ell_n) \}$$

$$= \frac{1}{2^{n+1}} \{ f(b) \bigtriangledown_v f(a) + f(a \bigtriangledown_v b) \}$$

$$+ \frac{1}{2^n} \sum_{k=1}^{2^n - 1} f(a \bigtriangledown_{v + \frac{k(1-v)}{2^n}} b) \bigtriangledown_v f(a \bigtriangledown_{\frac{kv}{2^n}} b)$$

$$= \frac{1}{2^{n}} \{ (f(b) \bigtriangledown_{v} f(a)) \bigtriangledown_{1/2} (f(a \bigtriangledown_{v} b)) + \sum_{k=1}^{2^{n}-1} f(a \bigtriangledown_{v+\frac{k(1-v)}{2^{n}}} b) \bigtriangledown_{v} f(a \bigtriangledown_{\frac{kv}{2^{n}}} b) \}.$$

*Proof.* Multiplying v and (1-v) to the both sides in (3.4) and (3.5) respectively and summing each side, we obtain

$$(4.4) \quad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left\{ vf\left(a + (2k-1)\frac{h_{n}}{2}\right) + (1-v)f\left((1-v)a + vb + (2k-1)\frac{\ell_{n}}{2}\right) \right\}$$

$$\leq \frac{1}{b-a} \int_{a}^{(1-v)a+vb} f(x)dx + \frac{1}{b-a} \int_{(1-v)a+vb}^{b} f(x)dx$$

$$\leq \frac{1}{2^{n+1}} \left\{ f(b) \bigtriangledown_{v} f(a) + vf(a \bigtriangledown_{v} b) + (1-v)f(a \bigtriangledown_{v} b) \right\}$$

$$+ \frac{1}{2^{n}} \sum_{k=1}^{2^{n}-1} \left\{ vf(a+kh_{n}) + (1-v)f((1-v)a + vb + k\ell_{n}) \right\},$$

which is equivalent to

(4.5) 
$$r_{f,v,n}^{(1)}(a,b) \le \frac{1}{b-a} \int_a^b f(x) dx \le r_{f,v,n}^{(2)}(a,b).$$

Finally we estimate  $r_{f,v,n}^{(1)}(a,b)$  and  $r_{f,v,n}^{(2)}(a,b)$ . By the same method in Proposition 2.2, it is easy to sow

$$r_{f,v,n-1}^{(1)}(a,b) \le r_{f,v,n}^{(1)}(a,b),$$

and

$$r_{f,v,n}^{(2)}(a,b) \le r_{f,v,n-1}^{(2)}(a,b)$$

Corollary 4.2. For a, b > 0 and  $v \in (0, 1)$ , we have

$$(4.6) \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} (a\sharp_{v+\frac{(2k-1)(1-v)}{2^{n+1}}} b) \nabla_{v} \left( a\sharp_{\frac{(2k-1)v}{2^{n+1}}} b \right) \\ \leq L_{1/2}(a,b) = \frac{b-a}{\log b - \log a} \\ \leq \frac{1}{2^{n}} \left[ (b \nabla_{v} a) \nabla_{1/2} \left( a\sharp_{v} b \right) + \sum_{k=1}^{2^{n}-1} \left( a\sharp_{v+\frac{k(1-v)}{2^{n}}} b \right) \nabla_{v} \left( a\sharp_{\frac{kv}{2^{n}}} b \right) \right]$$

*Proof.* After we apply the convex function  $f(t) = e^t$  in Theorem 4.1, we replace  $e^a$  and  $e^b$  with a and b respectively. Then we obtain the inequalities (4.6) for b > a > 0 and  $v \in (0,1)$ .

Corollary 4.3. For a, b > 0 and  $v \in (0, 1)$ , we have

$$\left\{ (b\sharp_{v}a)\sharp_{1/2}(a\bigtriangledown_{v}b)\prod_{k=1}^{2^{n}}(a\bigtriangledown_{v+\frac{k(1-v)}{2^{n}}}b)\sharp_{v}(a\bigtriangledown_{\frac{kv}{2^{n}}}b) \right\}^{\frac{1}{2^{n}}} \\
\leq I_{1/2}(a,b) = \frac{1}{e}\left(\frac{b^{b}}{a^{a}}\right)^{\frac{1}{b-a}} \\
\leq \prod_{k=1}^{2^{n}}\left\{ (a\bigtriangledown_{v+\frac{(2k-1)(1-v)}{2^{n+1}}}b)\sharp_{v}(a\bigtriangledown_{\frac{(2k-1)v}{2^{n+1}}}b)\right\}^{\frac{1}{2^{n}}}.$$

*Proof.* Applying the convex function  $f(t) = -\log t$  in Theorem 4.1, we obtain inequalities (4.7) for b > a > 0 and  $v \in (0,1)$ .

#### 5. Related results

Our obtained results in this paper can be extended to the operator inequalities. We give operator inequalities corresponding to Corollary 3.2 and 4.2. For strictly positive operators A and B, the weighted geometric operator mean and arithmetic operator mean are defined as

$$A\sharp_v B = A^{1/2} \left( A^{-1/2} B A^{-1/2} \right)^v A^{1/2}, \ A \nabla_v B = (1 - v) A + v B.$$

It is known that an operator mean M(A, B) is associated with the representing function f(t) = m(1, t) with a mean m(a, b) for positive numbers a, b, in the following

$$M(A,B) = A^{1/2} f\left(A^{-1/2} B A^{-1/2}\right) A^{1/2}$$

in the general operator mean theory by Kubo-Ando [8]. Thus it is understood that the weighted logarithmic operator mean  $A\ell_v B$  is defined by through the representing function  $L_v(1,t)$  for  $v \in (0,1)$ .

**Theorem 5.1.** For any  $v \in (0,1)$  and strictly positive operators A and B, we have

$$(5.1) \qquad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left[ (A \sharp_{\frac{(2k-1)v}{2^{n+1}}} B) \bigtriangledown_{v} (A \sharp_{v+\frac{(2k-1)(1-v)}{2^{n+1}}} B) \right]$$

$$\leq A \ell_{v} B$$

$$\leq \frac{1}{2^{n}} \left[ (A \sharp_{v} B) \bigtriangledown_{1/2} (A \bigtriangledown_{v} B) + \sum_{k=1}^{2^{n}-1} (A \sharp_{\frac{kv}{2^{n}}} B) \bigtriangledown_{v} (A \sharp_{v+\frac{k(1-v)}{2^{n}}} B) \right]$$

*Proof.* After we divide a in the both sides of the inequalities (3.8) and we put  $\frac{b}{a} = t$ , we replace t by  $A^{-1/2}BA^{-1/2}$  and multiply  $A^{1/2}$  from the both sides. Then we obtain the results.

**Theorem 5.2.** For any  $v \in (0,1)$  and strictly positive operators A and B, we have

$$(5.2) \qquad \frac{1}{2^{n}} \sum_{k=1}^{2^{n}} \left[ (A \sharp_{v + \frac{(2k-1)(1-v)}{2^{n+1}}} B) \bigtriangledown_{v} (A \sharp_{\frac{(2k-1)v}{2^{n+1}}} B) \right]$$

$$\leq A \ell_{1/2} B$$

$$\leq \frac{1}{2^{n}} \left[ (B \sharp_{v} A) \bigtriangledown_{1/2} (A \bigtriangledown_{v} B) + \sum_{k=1}^{2^{n}-1} (A \sharp_{v + \frac{k(1-v)}{2^{n}}} B) \bigtriangledown_{v} (A \sharp_{\frac{kv}{2^{n}}} B) \right]$$

*Proof.* We obtain the results by the same method of Theorem 5.1.

## ACKNOWLEDGEMENT

The author is partially supported by JSPS KAKENHI 19K03525.

### References

- [1] P. Cerone and S. S. Dragomir, Ostrowski type inequalities for functions whose derivatives satisfying certain convexity assumptions, Demonstratio Math. 37 (2004), 299–308.
- [2] S. S. Dragomir and R. P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, Appl. Math. Lett. 11 (1998), 91– 95.
- [3] S. S. Dragomir, P. Cerone and A. Sofo, Some remarks on the midpoint rule in numerical integration, Studia Univ. Babes-Bolyai, Math. XLV (2000), 63–74.
- [4] S. S. Dragomir, P. Cerone and A. Sofo, Some remarks on the trapezid rule in numerical integration, Indian J. Pure Appl. Math. 31 (2000), 475–494.
- [5] A. El Farissi, Z. Latreuch and B. Balaidi, *Hadamard Type Inequalities for Near Convex Functions*, Gazata Matematica Seria A, no.1-2, 2010.
- [6] S. Furuichi and H. R. Moradi, Advances in Mathematical Inequalities, De Gruyter, 2020.
- [7] S. Furuichi and N. Minculete, Refined inequalities on weighted logarithmic mean, arXiv:2001.01345v1 [math.CA] 6 Jan 2020.
- [8] F. Kubo and T. Ando, Means of positive operators, Math. Ann. 264 (1980), 205–224.
- [9] F. C. Mitroi-Symeonidis, About the precision in Jensen-Steffensen inequality, An. Univ. Craiova Ser. Mat. Inform. **37** (2010), 73–84.
- [10] R. Pal, M. Singh, M. S. Moslehian and J. S. Aujla, A new class of operator monotone functions via operator means, Linear and Multilinear Algebra 64 (2016), 2463–2473.

Manuscript received 20 June 2020 revised 27 August 2020

## K. Yanagi

Department of Mathematics, Josai University, 1-1, Keyakidai, Sakado 350-0295, Japan  $E\text{-}mail\ address: yanagi@josai.ac.jp}$